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What do you notice?
Is there a relationship between the calculations?

500 +400 = 523 +400= 523 +28=
400 + 500 = 423 +500 = 423 +28=
300 + 600 = 323 +600= 323+28=
200 +700 = 223 +700= 223 +28=

100 +800 = 123 +800= 123 +48=
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Write the four number facts that this bar model shows.

Using coins, find three ways to make £1.
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Mastery with Greater Depth

There are six 3-digit addition calculations shown below.

a) 124 b) 644 o 366
+233 +172 +277
d) 579 e 791 f) 567
+221 +163 +233

Which calculations have no carry digits?

Which calculations have a carrying digit only once?
Which calculations have a carrying digit twice?
Which calculation has the largest answer?

Which calculation has the smallest answer?

Check that children are looking at the numbers involved, rather than doing the
calculations.

+ =

Throw a 1 to 6 dice and each time record the digit in one of the place holders.
The aim is to get the sum as low as possible. Repeat to find different answers.

Could you have done it in a different way?
Compete against a friend and compare your answers.




